Operator: BB
Date: 3/9/2011

Static Summary
Static 4501 1771] 2.1624
Static 548.5| 2171| 2.6508
Static 650 2572| 3.1404
Static 845.4| 3307| 4.0379
Static 1000| 3958| 4.8327
slope 0.2536 mbar/bit
intercept -0.067 mbar
rh2 0.9997

Dynamic Average

slope

0.0839|mbar/bit

intercept

-0.367|mbar

Product: CIP SIN: 0109-34
450 mBar Pressure ADC Volts (from ADC)
Static 450 1771 2.162393162
550 mBar Pressure ADC Volts (fram ADC)
Static 548.5] 2171 2650793651
650 mBar Pressure ADC Volts (from ADC)
Static 650 2572 3.14041514
Ambient mBa|Pressure ADC Volts (from ADC)
Static 845.4] 3307 4.037851038
225 mb 225] 2683 3.275946276
150 mb 150 1798 2.195360195
75 mb 75 903 1.102564103
0mB 0 0 0
1000 mBar  |Pressure ADC Volts (from ADC)
Static 1000] 3958 4.832722833]
Calculated PACS Values
Static 0.2526|mbar/bit
Dynamic 0.0842|mbat/bit
Calculated PADS Values
Static Slope 206.879|mbar/V
Dynamic slope 68.9598|mbar/\V/
Calculation is based on pressure transducer
data sheet, electronic gain and offset
~ and ADC range.
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Measured PADS Values

Static Slope
Static intercept

Dynamic slope
dynamic intercept

0y Gkl mbar/V

-0.0669 I=EL

68.6759 [yle=1rv

Ry mBar
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